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Buection | . [V AT =0T Grad cusiees
(LD) Construct payofé toiole |

Stakes 04 wodwre
Altern(tives Dry Medertte | Damp
Crop A 20 %5 40
Crop 2 2.5 7 20 45 v
Crop 3 »0 25 25
Crop 4 20 20 20 |
Prior prooabtlity 0.3 05 0.2 |7 %L

Cumik (n thousand dollars) . / |
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Questlon 2
(24)  Using theewien ertterion - —» o Mo + (A-o) M

Croph: 0.k x Max (20,35, 40) + (40K) Mim (20, %5,40)= 227

Copa: 0.4« Max ( 225, %0 (45) + (A-04) Mix (22.5, 30,4S) = 24.35 /
Cop>: 0.0¥ MaxL (30 25,25)% (A-0.4) Miw ( 30.25,25) = 25.5 .
Cop4 : 0.4 x Max (o020 20) + (A-0.4) Mk (2020 (D) = 20./

— (Crop % Wae?m Ws& weoted sum  —p Choose Orop 2,

d= 0 A



http:Q\A~J<.ol

i (2.2) Wiug Madwin otterow

roph = MW (20,35 ,40) = 20 /
(rop 2@ Miu (225‘ 30,45) = 22.5 /
Cmp 5. Wu ( 30,25, 25 25,

Cro{)4~: Miw (2020203.: 20

— (rop 2 Was e ¢ (afq&i'“ of Hae it (’“/"‘q“ —¥ CUcose. crop 3.

(23) Usuq S0ne Criterion
& Rapt fobl
ek ( OoPA (dry) = MOk (20,225 ,%0,20)~ 20 = 1o
Qoq (crvp).ld = Mic (20,22.5, ’;o( )) 26 2387
(crop‘bl )= Mok ézoszs 20,20) - 30 ~ 0 .
(c;op4[(,{n/)_. max (20, 22,5 0, 20)-20 2 (0 - _

( crop4 | moderate) = Wmax (35,%0, 25, 5= 0 / s D
(Crag modwrate) = wox (35 (30, 25 Jo)) 3 2 5 7 eopresen ]
Kt (cr wodtratg) = Wax (5, 30, 25, 20)~ 25 =2 (D,
mt(cro‘%ww\emie,)a wox (35,30, 25,20) - 20 = 15,

(oopA(M -~ mox (40, 45 ,25,20) - 40= 6 -
( awmx(éo‘%s 25, 10% A5 =0 .

ok ( al!l 2 40, 4:5 25(20) =25 =20 -
Rézet ( 44& ,-wmc 40, 45 (26,20 ~ 20 = 26 ./
—+ (l@re,{— table
Odternoteves Dry Modgrate Dowwp i
Crop 4 0 0 5 \/
Crop 2 35 5 0
Crop 3 ) {9) 20
0@%4 (0 (S 25,
(Hausoud do\lars)

& Dectde us:»f) S4000 oreterton .

Mactimum rigret of Coph : max(10,0,57) = 10
" Crop2s VIML\CC:!‘b S,0)=%s .
% mw(o(lozo) 220 /
4: wmox ((0,1525) =25

¥ Cro()l Ws e smallest wondmum et —p dwor,e cmpl
Ruestion 2

(5.0) Decide Wua EMV.

EMV (Croph) = 0.3 (20) + 05(35) + 0.2(40)= %.5 /

J;_M“( = 03(225)¢ 05()+ 02(#5)= 30.15 /
EMV ( % 05 Bo +05£26’)+02(25)a 2.5 /
M

+ 0.5(20) ¢ 0.2(29) = 20,
. 4 Ol'opA has the luqlucf EMN —p cuoose crop A .




(h.2) Ueing EOL

soL ( croph) = oauo) 0.5 ;+02( = 4/
EOL Ccropl = 02»(%‘5%06:( £02(0)= 435
BoL Q&f%; 0%( fos(‘§+oz(zo = q y
EoL (trop4) = 0.5( (% 0.5 (1 )t—oz(z = 1556
—& Crop 4 Uas the swallest EOL — cuoose crop 4.,

Qestion 4
40 Expotd WEAZAMY \Olue wader /it Porfeer daforwation .

EMN= 0.5 May (20,225, %0, 20) + 0.5« Max (35,%0,25,20) + 02 x Max (40, 45,25 %
0.35(30) t 05(55) t 0.2(45)
= 25.5 |

(4.2) Decigion tme uwder e pedect Wformatiou,

I
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o 40
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el 25
wwwww . ZD

Question 5,
P(gren|dry)= 0.05 P(red { dry) = 045
P% Rew rate )z 0.3 P (fiol‘lwaodum) 0.5
P (Qreew | dowp) = ¢ (rd{dawmp) = 0.

(5.0) Six pint probnbilities .
PCgrew & dry) = € (gnan ldry) - Kldry) = 0.06 % 0.3
0015 -

{(Qren s wedertte) = ?(Qmmlwoolm{n) [?(vundm—m,)f 01';(505“
. 035

?(groawns dowp) = 0(grow|dowp), Pldamp) = | 0.2



- b v dry) - Pled (dry ) Pldry) = 095 2950_ 3 @
P(rd % wodsate) = P( red | woderade) QV(Wogeram) = 05x%x 05
= 0.15,
Plads dawp ) = 0 /
(5.2 Mo probabcm‘
PQroew) = Pgrun s dry) + ?(Qmu % wodeats) + { (feau ¢ dawp)

= 0.0(6 0, %
= 05@5:2_

P(modzzgdry) z%mg ; wiodpote) « P Crad ¢ dowg)

0.435 /
(5.3) Six fostertor probobotlily .
Pldry lgmew) = P(dry s guew) _ 0015 . 0.02%/

P (red)

00

Plgoew) = ~0.565
Pldry (rod) = 2((1%& ) . 0.265 | 0655
) rd) T 0.4% T
PCmadote (o) = O wodertde ¢ grass) - 035 . 0.619/
?C@mﬁw) 05 5
? (wodowte [rad) = £ (wodsrate s wd) . 015 _ 0,345/
PCrad.) T 0435
P(dawp [qreew) = P(dowpsgpew) . 92 . 0354/
“p s P(groek) - 0565
P(dﬁwp {md)

(5.4) Exprered Wonstgry vilue 0F Light (s

EMN of op A given qﬁu = 0.023:(20) +0. éﬁ(zlwb% (40)

36.2%’
= 0,655 (B) +0.545(

5)+ 0.(40) = 25.8

= 002% (22.5)+061T(207) 0.554 (46) = 35.1 /
= 0.655(225)+ 0.245(%0) + 0 (45)= 25.09:

EMN of-0rop b ivew goon = 0.02% (%0 +0.61%( 25) 4 0.354 (26) = 26‘;4/
red = 0.655 (50) ¢ 0.345(25) + 0(25) = 2§.28

0.02F ( 2o <-0(ozcr(2.og+ 0.354(2°) =~ 20 7
0655 (20) + 0.345 (20) + o(zo) = 10/

(5.5) Exputed valre withh i (wperfict Wkorwakion .
EMV = 0.565, W ( 36.3% 13510, 25,14, 20) ¢ D.4235 « wax (2518 ', 2509 , 14

o,%s’,(s@/ﬂ) ¢ 035 (2088 . 2)
5285 Grect- ¥

EMV of orop 2 gpan QZ&N

EMV of orop 4 fiveu g&m
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C(53) BV = Expohd ol vl (wipdeot iforwalion  — EMN ©
32,65 - 3.5
{35 v BV\’\' H’\m\SCVV\(J [Z

—» BVl o iger thau the st of Veakher Teller — buy weotier Tetlen. v

[T ]

Bows question
ENPT Eqiemdvm Wil perfeor dufprmation - B MV

3.5 - 3.6
4 (Hhonsomd dollavs)

EVPT set te wgrmma \Obue for (wforwodiow wiich wedus-+aat (ufor motiow,
Har st wmove e BVPE (¢ uot worth buyaq. % L

L Wipkwer Tedler's. V&u,s 2,000 USD 4 shil ewater thau 4,000 —» T wowld
ooy AdMSe i)wg‘ buy . 1
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